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QUESTION 1

Which two statements are true about subtemplates in Oracle Site Studio? 

A. Subtemplates do not have , , and  sections. 

B. A benefit of using subtemplates is that you can add one without affecting the number of asset types that need to be
managed. 

C. A Web site should have at least one subtemplate. 

D. Subtemplates can be placed only within placeholders. 

Correct Answer: AD 

 

QUESTION 2

What are the two technical benefits of integrating Oracle Enterprise Content Management with application? 

A. A1A Foundation Pack is fully integrated with ECM Suite to build Fusion Applications 

B. Limited functionality allows ease of integration 

C. Access to application content by non-application users 

D. Reuse of application content for web presence 

Correct Answer: AD 

 

QUESTION 3

Which two optional components are integrated and used with Oracle Site Studio? 

A. WebDAV 

B. Dynamic Converter 

C. Content Access 

D. Verity 

Correct Answer: AB 

 

QUESTION 4

Which two statements are true about the role based security model in Oracle Content Server? 

A. Initially, a new role is assigned Read, Write (RW) permission to the Public security group. 
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B. One can assign multiple roles to a user. 

C. A role is a set of permissions for each security group. 

D. A permission is a set of roles for each security group. 

Correct Answer: C 

 

QUESTION 5

During documents capture, when you have a batch of many which pages, what is the main factor in determining which
pages are grouped together in the same document? 

A. Same indexes 

B. Same separator sheet 

C. Same number of pages 

D. Same color 

Correct Answer: B 
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